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The State Statistics Bureau of China started to research the method of theindex of industrial production
(I1P) at the end of 1980s. Since1997, the monthly 1P is calculated in the State Statistics Bureau and 30
provinces (except Tibet).

1.The basic method

[1Pisobtained by comp uting theweighted average of the production quantity index of therepresentative
products. The aggregative expression of the formulais
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where
Q1= quantities produced in the reporting period
Qo= quantities produced in the weighted base period

1)How to chose the representative products

Whether choosing the representative products is reasonable will affect the accurate degree of the I1P.
So we make some rules, including

i) to chose the products by industrial branch

1) to chosethevery important productswhosetotal valueisover 70% of thewholebranch’ svalue
iii) to chose the products which are produced steadily

Iv) to chose the products which show the tendency of the branch’ s development

2) How to calculate the weights of the representative products

Theweightsare cal culated by industrial value-added. First, wecal culatetheweightsof 2-digit branches
according to the yearly value-added by branch. In the same way, we can get the weights of 3-digit and
4-digit branches. Last, wecal cul atethewei ghts of therepresentative productsaccording to the proportion
of the product’ s vaue. The weights of branches and representative products are fixed in 5 years.

2.The application of 1P in China

1) To calculate the monthly 1P

Themonthly 11 PinChinaisachainindex, whichiscal culated by thefixed benchmark indexinthereporting
period comparedwiththeindexinthesameperiodintheprecedingyear. Firstwecal cul ateaveragemonthly
quantitiesof therepresentativeproductsinthewei ghted baseperiod. Thenwecan get thefixed benchmark
index by comparing the monthly quantitiesin the reporting period with average monthly quantities. In
the same way, we can get the fixed benchmark index in the same period in the preceding year. So we
can get the monthly 11P.



2) How to reflect the changes of 11P influenced by changes of products quality

Now, IIPis caculated by quantity of productsin China. Because the selected representative products
aredifferent in quality, the result of production index can not reflect the changes of index influenced by
product’ scomposeand product’ stechnology improvements. So thecal cul ated result of productionindex
islower than actual growth. The way for solving this problem generally is calculating production index
by value of products (gross output or turnover of products). The changes of value of productsat current
price include the influence of price changes and volume changes, so thefirst thing that should be done
isto use price index to exclude the price influences. Price index for the same productsis necessary. But
now inChina, thepriceindexisnot convenienttousetocal culatel I P. Itisnecessary toimprovethestatistics
of the price index.

3) Classification of [P

For meeting demand that government wse different classification of 1P to manage economy, we must
cdculate the dassfied 1P, indluding:

I) Classified by industrial branch

[P classified by industrial branch is important for economic analysis in shortly period. Because the
representativeproductsaresel ected by branch, itiseasy tocal culatel | Pof the2 -digitand3 - digitbranches.
i) Classified by light industry and heavy industry

[1Pclassified by light industry and heavy industry isthe peculiar classification. For calculating thisk ind
of index, we add special cord under every 4-digit branch, according to this cord, we can calculate |1P
classfied by light industry and heavy industry every mouth.

iii) Other classification divided by enterprises scale, registration’ stype, etc.

Cdculating I Pof thiskind of classificationisquitedifficult, our way to solvethisproblemisto estimate
[1P of each group.



